Deion says that 3 + 3 = 6.  Do you agree or disagree?  Explain.
Find the unknown number in this equation:  5 + 3 = ?
Show your thinking with pictures, numbers, or words.


11 = 3 + 7
Is this equation true?     yes         no       Circle one.  Then explain.
Write a true equation.


What is the unknown number in the equation 13 - [image: ] = 8 ? 

[bookmark: _GoBack]Daisy says since 5 – 2 is the same as 6 – 3 we can write this true equation:  5 – 2 = 6 – 3.  Is Daisy correct?  Tell why or why not.


  11 = 4 + [image: ]     What number can replace the star to make the equation true?  Show your thinking. 
Is 2 + 7 = 4 + 4 a true equation?  How do you know?



Brady says that 10 - 3 = 6 + 2.  Do you agree with him?  Explain why or why not.
Circle the equation that is true.  Tell why the other equation is not true.
                       6 = 14 – 4                                5 + 6 = 11
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